LINES & ANGLES W‘
(GEOMETRY ) 7

PART-1
Most Asked Questions By SSC




SSC 2022-CGL*CHSL-CPO

Chhavi Saxena 22 hours ago

Home work answer is option A ( at+b+c)
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Answer: atb+c
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a) atb+c
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a. atb+c
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Opt.A. atb+c
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Complementary Angles(m aﬂvr)

When the sum of two angles is 90°, then the
angles are known as complementary angles of
each other.

9 &Y U FT A1 90 ° Far &, dr FON
UF QW & Q& HIT F T F =T AT B
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Supplementary Angles(H&qIsh YT )

When the sum of two angles is 180°, then the
angles are known as Supplementary angles of
each other.

9 & Ho FT T 180 ° Far §, o Hoi
#rua;q:a'ta?m PIT & T A AT
SATdT
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if (3x+12°) and (2x+3°) are complementary
angle of each other ,then find value of x?

gfe (3x + 12 °) AR (2x + 3 °) Teh g& &
q{eh IV g, dl x T AT AT hifaAu?

01:00 - oj25

b)15°
c)20°
d)30°
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The measure of an angle is 25° less than
the measure of its complementary angle
then find the value of angle?

Tk VT T ATl 3HE HIfEYIH HI0T H 25°
F g | PYOT HT AT ATT FX

m =) a)32.5°

b)57.5°
c)43°
d)47°
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Four times of any angle is 30° more than
two times of the supplementary of an
angle. Find the complementary angle of
that particular angle?

fFdl sft oT FT AR FAT FOT F TFREF
FIT & & AT & 30 ° IHAF FN 3F FT H+
aﬂﬁqwaﬂwmaﬁﬁm’?

a)35°

b)65°
01:00 - 025

d)55°
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Angle X and Y are complementary angles

and X is % times of its supplementary angle,
then find Y.

HIUT X 3 Y Qe HIUT § TAT X 39
SERSRCT quUTEIFr3/731?IT?.’FITYqo| AT

T 2

)27°
01:00 r.
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Twice the supplementary of any angle is 105°
larger than thrice the complementary of that
angle. What is the sum of the supplementary
and complementary of that angle?

frdl FT & TFRF FT AET 3T R F
a:‘r%qw%ﬁmﬁ#ms FRF ¥ 3T FOT H

TFEE AR HeqTE F1 AT F4r 2
a)210°
01:00 b) 180°
=) c)240°

d)270
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What will be the value of m inhe
given figure?

T RT A m FTAT R ?
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If AB is a straight line in the picture,
find the value of (x + y).

ﬁ?ﬁ@AB?ﬁ?ﬁW%m(xw) -, e
T AT AT FU| & : e
El
a)55°
01:00 = bJ65°
c)75°

d)80°
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Parallel lines Theorem:
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In the shown fig PQ | | RS, find

few e a3 & PQ || RS, x I
AT AT N
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In the shown fig PQ || ST ,find
complementary angle of x.

Reaw T A pq || ST, AT X &
PIfCIIH HIT HT AT AT T |
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In the shown fig PQ || LM| | RS, find
supplementary angle of x?

few ot =@ & PQ || LM]| RS, x
HT FFYIH FHIVT AT

a)25°
b)65°

d)60°
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In the shown fig AB | | CD, ZABE=110° then
find x°?

Hlmm few v R3 & AB || CD, £ABE=110°dT x°
ST AT ATT L ?

a)85°

=) b)135°

c)110°
d)125°
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In the given fig PQ || XY, then fmd” |

ﬂlm (m+2n)?

few arw = & Pq || XY, @ (m+2n)
T HATeT FTd H?
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In the shown fig PQ | | RS, find x?

few s =™ & PqQ || RS, x FT AW
01:00 AT

a)12°
b)15°
c)10°
d)20°




